
BOM # Knolly Item# Knolly Item Description (English)
1 01.13.0001 Trunnion mount shock bolts 
2 01.13.0002 Swing link main pivot 
3 01.06.0026 ISGC guide plate
4 01.06.0045 ISCG mounting bolts
5 01.13.0003 Rocker link main pivot bolt
6 01.13.0004 Push link / Swing link pivot bolt
7 01.13.0005 Push link / Swing link pivot backing Tnut
8 01.13.0006 Push link / Swing link axle 
9 01.13.0007 Fugitive Lower shock mount bolt 8mm
10 01.13.0008 Fugitive Lower shock mount Tnut 
11 01.13.0009 SS / pushlink Ti bolt 
12 01.13.0010 SS / pushlink outer axle keyed
13 01.13.0011 SS / pushlink inner axle keyed
14 01.13.0012 Main pivot axle keyed 
15 Main pivot bearing spacer
16 01.13.0013 CS / SS pivot back Tnut alloy black 
17 01.13.0014 CS / SS pivot bolt
19 01.13.0015 ST cable port plate alloy black
20 01.13.0016 ST cable port rubber seal
22 07.03.0010 FG chainstay protector
23 01.13.0024 FG FD mount
24 01.13.0017 FG downtube protector
27 01.13.0018 FG swing link LHS
28 01.13.0019 FG swing link RHS
29 01.13.0020 FG push link LHS
30 01.13.0021 FG push link RHS
31 01.13.0022 FG rocker link
32 01.13.0023 FG DT rear axle 12x157 
33 09.02.0004 Head tube badge
35 01.06.0040 Main pivot bolt M8x16
36 01.12.0028 FG downtube protector mounting bolts M5x12
37 07.03.0011 FG Igus bushing black 1214-07
38 07.01.0005 FG / WDC der hanger 
39 07.03.0010 Bearing 6900-2RS
40 07.03.0003 Bearing 6000-2RS
41 07.03.0002 Bearing 3001-2RS
45 07.01.0009 FG / WDC der hanger bolt
49 01.10.0004 Internal cable door
50 01.12.0036 Internal cable door grommet (4mm)
51 01.12.0034 Internal cable door grommet (5mm)
52 01.12.0037 Internal cable door grommet (4/5mm)
53 01.12.0035 Internal cable door grommet (4/4mm)
54 01.10.0003  Cable door Bolt (M4*10mm)


